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1. (10 %) Solve (x2+2y2)%=xy,y(—1):1.
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10 %) Solve | =+ —=— dt+| ye’ + dy=0.
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(10 %) Solve y"-2y'+2y=e"(cosx—3sinx).

4. (10%) Solve y"+5y'-6y=10e*, y(0)=1 y'(0)=1.
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(10 %) Use the Laplace transform to solve y"+6y'+5y =t—tu(t—2), y(0)=1, y'(0)=0.
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A g (50 %)
Y, = 2X +4X, + X,
6. (10 %) Find the inverse transformation of <y, =X +2X, + X,

Y, = 3%, +4X, +2X,

7. (10 %) Find a matrix C such that Q =x" Cx, where Q equals —3x? +4x,X, — X} + 2X,X, —5x’.
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8. (15%) (@) A=|3 0 0], compute e*'.
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(b) X'={3 0 0 X, find the general solution of X.
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9. (15%) X'=|0 4 1 |X,find the general solution of X.
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